INTERNATIONAL KANGAROO LINGUISTIC CONTEST 2014

Time Allowed: 60 minutes

3-Point Questions

Read the text and answer questions 1-5:

One day, a friend of mine who was a docker fell under suspicion. After work, he
used to leave the docks pushing a wheelbarrow usually draped with a large mat.
People often suspected him of stealing some tools. Every time this happened, the
dock police stopped him to check under the mat and were disappointed to always
find the wheelbarrow empty.

Onenight, another PC followed him and watched him wheeling the barrow into his
garden. That enterprising bobby scrambled over the wall and to his surprise there
were 30 wheelbarrows stacked inside.

1. A docker usually works .............. .
A)ina port B) in an airport C) in a hospital
D) in a school E) in a forest

2. The man looked suspicious because. ................

A) he left work early B) he pushed a covered wheelbarrow
C) he lett the docks secretly D) he pushed a full wheelbarrow

E) he went home in a hurry

3. The police were ...« after checking the man's wheelbarrow.

A) dissatisfied B) nervous C) distracted
D) dismantled E) distressed

4. In this text PC is the short form for ................
A) personal computer B) poster child C) politically correct
D) police constable E) postcode

5. The form used to leave can be successfully replaced with
A) was to leave B) had been leaving C) would leave
D) was leaving E) did leave
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6. HIV is short for:

A) hard immunodeficiency virus B) human immunodeficiency virus
C) horrible infectious virus D) human infectious virus

E) hard infectious virus

7. What is the opposite of “the former”?
A) the letter B) the later C) the letters
D) the latest E) the latter

8. What do you do when you come across a generation gap?
A) you can bridge it B) you can jump over it  C) you can fall into it
D) you can fill it in E) you can fall for it

9. My daughter has many sisters. She has as many sisters as she has brothers. Each of
her brothers has twice as many sisters as brothers. How many sons and daughters do
I have?

A) 2 daughters and 2 sons B) 3 daughters and 4 sons C) 4 daughters and 3 sons
D) 2 daughters and 3 sons E) 3 daughters and 2 sons

10. They didn't find the house they wanted, so they decided to build one from ........... :
A) scratch B) first C) beginning

D) start E) scrape

4- Point Questions

11. Find the letters that are missing to name someone who lives to have fun, especially
by playing tricks on people.m_sch_ev__s

A)i/i/o/u B)a/i/i/ o C)a/e/i/o

D)i/e/o/u E) efi] e/n

12. Complete sentences 1-5 using the following idioms:
a. screwed up my courage b. took my eyes off her c. ran out of steam
d. put my head down e. made up my mind

1.I've ........... to take revenge.

y. 1 g—— halfway up the hill.

SR o1 gP— for a second and she disappeared.
4.Itinally ........... and went to the dentist.

5.IfI had ........... for a while, I wouldn't have been so tired.

A) 1c/ 2a/ 3b/ 4e/ 5d B) le/ 2¢/ 3b/ 4a/ 5d C) 1b/ 2a/ 3¢/ 4e/ 5d
D) 1b/ 2¢/ 3a/ 4e/ 5d E) 1c/ 2e/ 3b/ 4a/ 5d
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13. ............... the end of the whaling industry came hard times for seaports like New
Bedford and Nantucket.

A) For B) At C) During

D) Till E) With

14. In her position ........... Managing Director, she is responsible for more than 150
employees.

A) like B) offt C)as

D) about E) of

15. “Half board" is a form of holiday accommodation that includes ........... ;
A) only a bed B) a bed and breakfast C) tent sale price
D) abed and two mealsa day  E) a bed and three meals a day

16. Find the word whose underlined part is pronounced differently from the others:

A) bath B) bathing C) breath

D) healthy E) birth

17. Which is the odd one out?

A) mistrust B) mistime C) mistress
D) misuse E) misunderstand

18. Supposing Jane ........... with us, what would you do?

A) would come B) came C) will come
D) has come E) is coming

19. Before he tossed the coin into the air, the kid called out “........... il

A) heads or toes B) heads or shoulders C) heads or legs
D) heads or tummies E) heads or tails

20. Egg is to chicken what acorn is to ........... :
A) oak B) poplar C) spruce
D) willow E) birch

5- Point Questions

21. In which country or civilization did the idea of yin and yang develop?

A) Japan B) China C) the Roman Empire
D) India E) Spain
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22. Read the following sentences and say which are true and false.

1. Ireland was never invaded by the Norman:s.

2. Queen Elizabeth Il belongs to the House of Hanover.

3. Queen Elizabeth II celebrates her birthday twice a year.

4. Queen Elizabeth II is also the Queen of Canada, Australia and New Zealand.
5. The British Monarch can enter the House of Commons whenever s/he wants.

A) 1-false/ 2-false/ 3-true/ 4-true/ 5-false B) 1-false/ 2-true/ 3-true/ 4-false/ 5-true
C) 1-true/ 2-false/ 3-true/ 4-false/ 5-true D) 1-true/ 2-false/ 3-false/ 4-true/ 5-true
E) 1-true/ 2-false/ 3-true/ 4-true/ 5-true

23.1f you break up with Jane, remember that there are plenty more ........... .

A) wolves in the pack B) lions in the pride C) tish in the sea
D) sheep in the herd E) geese in the flock

24. You can find a goatee ............

A) on the chin B) on the nose C) on the chest
D) on the legs E) on the arms

25. Choose the correct ending:

You would hardly expect her to know that, ........... 4
A) wouldn't you B) do you C) don't they
D) would you E) won't they

26. Match the British words to their American equivalents:

1. caretaker a. pacifier

2. dummy b. trash can

3. motorway c. hobo

4. dustbin d. janitor

5. tramp e. Freeway
A) 1d/ 2a/ 3e/ 4b/ 5¢ B) 1d/ 2a/ 3¢/ 4b/ 5e C) 1c/ 2d/ 3a/ 4b/ 5e
D) 1c/ 2a/ 3e/ 4b/ 5d E) 1c/ 2d/ 3e/ 4b/ 5a
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27. An intellectual snob often ........... at the efforts of others to improve themselves.
A) chuckles B) sneers C) giggles

D) laughs E) titters

28. My cousin told his friend he had a good job and a good salary, but he ............

A) hadn't B) wasn't C)isn't

D) didn't E) haven't

29. The first London bus started running between Paddington Green and the Bank in
1829. It was a horse-drawn coach called a(n) ..........., a Latin word meaning “for all”.
A) streetcar B) road vehicle C) carriage

D) omnibus E) wagon

30. What is a limerick?
A) a humorous play B) a humorous story C) a long poem
D) a long tragedy E) a humorous poem

Bye - bye!
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